dzolde,dy [pb/GeV]

1071

1072

[EEY

Ratio to ATLAS

0.5

7000 GeV pp Jets

L Y I I I Iy %
c
— — G-)
= =>
— 0
L — <
- _]©O
Q]
= =N
= Ho
— i
— ™
= —o
= 5=
— o
= —©
— =M
— 3
R o
= S =5
—~  m ATLAS . g %
= Alpgen+Py6 2.1.4 6.426 z2{CTEQ6L1 g =y
~ --3-- Herwig 7.2.0 default e
e ¢ Sherpa 2.2.8 default 19
= E
— - §
— -
— — O
= | | | | | | | | | | | | | I | | | | | —|= E

:I T | T T T T | T T T T | T T ?I T | T T T T |:
= 32

L ’ _
1

- \ ]

| | —0.5
1 1 L 1 1 L | L 1 1 J.. 1 1 L |
400 500




	Contents
	Page 1


